Table S4 The structure of the 743 CDK2 inhibitors and 180 CDK2 non—inhibitors

mol Class from
CN1Cc2cc (—=c3nc (nee3) Nedee (eee3) COC/C=C/C1) ccc2 CDK2 inhibitor BD
FLC@eH] (C(=0)Nc1[nH]nc (C2CC2) c1)clcceecl CDK2 inhibitor BD
0=C (Nc1sc (C(C)C)cnl)Celcccecd CDK2 inhibitor BD
Fclcee (CNc2oc (—c3c4ce ([nH]c3) neceed) nn2) cel CDK2 inhibitor BD
N([C@@H] (C) cleccceel) cloc (—c2¢3c ([nH]c2) nece3) nnl CDK2 inhibitor BD
0=C (NNC (=0) C (=0)N)Nc1c2C (=0) c3c (—c4cce (0C) cc4) n[nH] c3—-c2cccl CDK2 inhibitor BD
0=C (Nc1¢2C (=0) c3c (C4CCCCC4) [nH]ne3-c2ccel) CN1CCC (CN) CC1 CDK2 inhibitor BD
S(=0) (=0) (N1CCCCC1) clece (NC(=0) Ne2nenedn ([CeH]4[C@eH] (0) [CeaH] (0) [CeH] (C(=0)NCC) 04) cnc23 L

Yeel CDK2 inhibitor BD
0=C (Nc1sc (€2€CCC2) cnl)Nclc2c (cnee2) cecl CDK2 inhibitor BD
Clcle (=n2nc (CC) c3C (=0)NC (CC)=Nc23) c (C1) cc (C1) cl CDK2 inhibitor BD
Clcle (C(=0)C2=Cn3c (C(=0) c4c (F) cc (C(=0)0) ccdF) ¢ (N) nc3C=C2) c (C1) cccl CDK2 inhibitor BD
Fele (C#C[C@@H] (NCCO) CO) c2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2ecl CDK2 inhibitor BD
0=C(NCclccceel)Nele2C (=0) c3c (—c4cece (0C) ce4) n[nH] c3—c2cccl CDK2 inhibitor BD
0=C (CN)N1CCN (c2ccc (Ne3nc4e (c (0C) cec4en3) C3CCCC3) cc2) CC1 CDK2 inhibitor BD
0=C (Nc1 [nH]nc (C2CC2) c1) Ceclece (OCCN2CCCC2) ccl CDK2 inhibitor BD
C(N1Cc2cc (Ne3ne (—cdee (0CC/C=C/C1) cced) cend) cee2) C1CC1 CDK2 inhibitor BD
S(=0) (=0) (N) clece (N/N=C\2/C(=0)Nc3c/2c (0CC) cce3) ccl CDK2 inhibitor BD
0=C (Nc1[nH]nc (C2CC2) c1) Celce2c (ecl) cecec? CDK2 inhibitor BD
S (=0) (=0) (N(C) C) clcce (NC=2n3nce (€ (C) €) ¢3N=C (NC3CCC (N (CC) CC) CC3) C=2) ccl CDK2 inhibitor BD
0=C (Nc1 [nH]nc2¢1CN (C (=0) NCCCC) €2) Celeec (N2CCCC2) cel CDK2 inhibitor BD
Fele (C(=0) c2¢c (N) ne3n2C=C (C (=0) c2c (F) cccc2F) C=C3) ¢ (F) cc (0C) c1 CDK2 inhibitor BD
S(Ccloc(C)cenl)clsc (NC(=0)C)ncl CDK2 inhibitor BD
Felece (F) ce (C(=0) Ne2 [nH]ne3C(C) (C)N(C(=0)C(C) (C)C)Cc23) cl CDK2 inhibitor BD
0=C(Nc1[nH]nc2c1CN(C(=0)NCCCC) C2) [C@@H] (C) clcc2e (ccl) ceee? CDK2 inhibitor BD
Brclece (C(=0)Ne2[nH]nc (C3CCC3) c2) ccl CDK2 inhibitor BD
0=C(N) c1nn(C) c2-c3nc (Nc4c (0C) cceed) nee3CCel2 CDK2 inhibitor BD
Fclcee (NC(=0) c2c (NC (=0) C3CCCCC3) cn[nH]2) ccl CDK2 inhibitor BD
Nclne (—c2¢3c ([nH]c2) ncee3) cenl CDK2 inhibitor BD
0CCNc1nc (N) c2c¢ (n1) nc (NCCO) clc (N) sce2l CDK2 inhibitor BD
0(C) clce2n (CCNCCO) c3c (c2ccl) c1C (=0)NC (=0) clclc2n (C) cec2eecedl CDK2 inhibitor BD
0(C) clcece (Ne2ne3ce (—c4en (C)ne4) neee3en2) cel CDK2 inhibitor BD
Clelec2/C(=C\c3[nH]cc4C (=0)0CCc34) /C(=0)Nc2ccl CDK2 inhibitor BD
0=CINCC2 (n3c4nc (Ne5nce (N6CCN (CCC (C) (€) C) €C6) ceb) needecld) CCCC2 CDK2 inhibitor BD
0=C (Nclcc2Ne3ne (—c4cee (0CC/C=C/CN(C) Cc (c1) c2) cce4) cen3) N1CCOCC1 CDK2 inhibitor BD
0=C (Nc1¢2C (=0) ¢3¢ (-=c4occed) n[nH] c3-c2cccl)N CDK2 inhibitor BD
Fcle2e3[nH]cdce (c3¢3C (=0)NC (=0) c3c2c¢2n (C) ccc2el) ceecd CDK2 inhibitor BD
0=CIN(C2CCCC2) c2nc (Nc3cce (NACCOCC4) ce3) nec2C=C1 CDK2 inhibitor BD
0=C (Nc1¢2C (=0) c3c (—c4cce (N5CCOCC5) cc4) [nHlne3—c2cecl) CN1CCC (0) CC1 CDK2 inhibitor BD
0=C (N1CCN(C) CC1) clene (Ne2ne3n4C5 (CNC (=0) c4ce3en2) CCCCH) cel CDK2 inhibitor BD
Clclcee (C(=0)Nc2[nH]nc (C3CC3) c2) ccl CDK2 inhibitor BD
0=C (NCCCC)Nc1c2C (=0) c3c (—c4cec (0C) ce4) n[nH] c3—c2cccl CDK2 inhibitor BD
0=C(Nc1¢2C (=0) ¢3¢ (C(C)C) [nH]nc3-c2cccl)N CDK2 inhibitor BD
0=C(Nc1[nH]nc (C2CC2) c1) [C@@H] (C) clcececl CDK2 inhibitor BD
S(Ccloc (C(C) (C)C)cnl) clsc (NC(=0) [C@H]2CNCCC2) nel CDK2 inhibitor BD
0=C(NC) c1nn (C) c—2¢1C(C) (C)Cclc—2nc (Nc2cc (CN(C)C) ceec2)nel CDK2 inhibitor BD
Clclce(Cl)cee (C(=0)Ne2[nH]ne (C3CC3) c2) cl CDK2 inhibitor BD
Fclec2/C(=C\c3[nH]cc4C (=0)0CCc34) /C(=0)Nc2ccl CDK2 inhibitor BD
Oclc (C2CCCC2) c2nc (Ne3cce (N4CCNCC4) ce3) nec2ecl CDK2 inhibitor BD
0=C(NC1CC1) c1nn(C) c2-c3nc (Nc4cececd) nec3CCel2 CDK2 inhibitor BD
0=CNc1c2C (=0) c3c (—c4cece (0C) cc4) [nH]ne3-c2cccl CDK2 inhibitor BD
0=CIN(C2CCCC2) c2nc (Ne3cee (NACCNCC4) cc3) nec2C=C1 CDK2 inhibitor BD
FC(F) (F)clcee (-n2nc (C(=0)N) c3c2-c2c ([nH]nc2) CC3) ccl CDK2 inhibitor BD
0(C)clc2ce (=c3nc (N)nced) e3n (C(N)=NC=C3) c2nccl CDK2 inhibitor BD
0=C (Nc1 [nH]nc (C2CC2) c1) [C@EH] (C) clcce (N2CCCC2) ccl CDK2 inhibitor BD
Fclee2[nH]e3c4n5[C@H] (CO) CCebebhe (c4cdC (=0)NC (=0) c4c3c2ccl) cech CDK2 inhibitor BD
0=C (N) C1=NN=C2C1=CC=C1NNC=C21 CDK2 inhibitor BD
0=C(Nclncceel)Nele2[C@@H] 3N (C(=0) c2cccl) CCC3 CDK2 inhibitor BD
Fcle2c (0CC) ce (—c3[nH]cee3) ¢3C(=0)Ne (¢23) ccl CDK2 inhibitor BD
0(C) clc2cc (Ne3ne (—cdec (0CC/C=C/CN(C)C2) cce4d) cend) cel CDK2 inhibitor BD
0=C (Nc1[nH]nc (C2CC2) c1) [C@H] (C) clcce (—n2¢ (0) cce20) ccl CDK2 inhibitor BD
0=C (Nc1¢2C (=0) c3c (-=c4ceneed) n[nH] c3-c2cccl) C CDK2 inhibitor BD
Clclec2e (N=0) ¢ ([C@H]3C (=0)Nc4c3ce (0C(F) (F)F) cc4) [nH]c2ccl CDK2 inhibitor BD
Clcle (NCC2CCNCC2) c2nce (—c3c (F) cec (0C) ¢3) [nH]c2ncel CDK2 inhibitor BD
Clcle (=n2nc (CC) c3C (=0)NC (Cc4cece (0C) ¢ (0) ce4) =Nc23) ¢ (C1) cc (C1) el CDK2 inhibitor BD
Brclec2[nH]e3c (c2ccl) c1C(=0)NC(=0) clelc2n (C) cecc2eece3l CDK2 inhibitor BD
0=CINC (=0) c2c3c ([nH]c4c3ccee4) c3c (c4n (C) cecdeed) cl12 CDK2 inhibitor BD
S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2ccc (C(C)C)e3)ccl CDK2 inhibitor BD
S(=0) (=0) (NC(=0)C) clccc (/N=C\[C@@H]2C (=0)Nc3c2c2scnc2cel) ccl CDK2 inhibitor BD
0=C(N) clnn(-c2ccc (=c3[nH]ccn3) cc2) c2clceel [nH]nec2l CDK2 inhibitor BD
0=C (Nc1sc (€2CCC2) cnl)Cclcccecel CDK2 inhibitor BD
S(Ccloc (C(C) (C)C)enl) clsc (NC(=0) C2CCN(CCO) CC2) nel CDK2 inhibitor BD
0=C (Nc1[nH]nc (C2CC2) c1) Cclcece (C(=0)N) ccl CDK2 inhibitor BD
0=C (NCCO0) c1nn (C) c2-c3nc (Nc4ccceed) nce3CCel2 CDK2 inhibitor BD
CN1Cc2c (N3CCOCC3) cce (Ne3nc (—cdec (0CC/C=C/C1) cce4) cen3) c2 CDK2 inhibitor BD
S(=0) (=0) (N) clece (N/N=C\2/C(=0)Nc3c/2cc (N)ce3) cel CDK2 inhibitor BD
0=C (Nc1[nH]nc (C2CC2) c1) [C@H] (C) clece (N2C (=0) NN=C2) cc1 CDK2 inhibitor BD



Fele2ce (CC) ce (=e3[nH]cce3) e3C(=0)Ne (c23) ccl

0=CINC (=0) c2c3c ([nH] c4c3cceed) c3c (C) cede (n(C) ccd) c3cl2

0=C (Nc1sc (€2CCC2) cnl) Ccle2c (cnee?2) cecl

S(=0) (=0) (C) clnc (NCc2ccc (—c3ncceed) ce2) c2[nH]ne (C(C)C) c2nl
Clclec (Ne2ne (N[C@H] (C(C)C)CO)ne3n (C(C)C) cne23) cecl

S(=0) (=0) (N(C)C) clcc2/C(=C\c3[nH]cc4C(=0)NCCc34) /C(=0)Nc2ccl
Fele (C(=0) C2=Cn3c (C(=0) c4c (0C) ccccd) ¢ (N) ne3C=C2) ¢ (F) ccel
0=C(0) clcc2/C(=C\c3[nH]cc4C (=0)NCCc34) /C(=0)Nc2ccl

0=C (Nc1[nH]nc (C2CC2) c1) clcce (C(=0)N) ccl

Clcle (=n2nc (CC) c3C (=0)NC (Cc4cce (C) ¢ (0C) ce4) =Nc23) ¢ (C1) cc (C1) el
0=CINC (=0) c2c3c (n (CCCO) c4c3ccee4) c3c (c4n (C) cecdeed) cl12

0(C) clc2e3[nH]c4ce (c3¢3C(=0)NC(=0) c3c2c2n(C) ccc2cel) ceecd
FC(F) (F)Oclcce (CC(=0)Ne2 [nH]ne (C3CC3) c2) ccl

Fclc2e (NCC(N) (C)C) ce (—c3[nH]cee3) ¢3C (=0) Ne (¢23) ccl

S(=0) (=0) (NC(C)C) clcc2/C(=C\c3[nH]cc4C (=0) 0CCc34) /C (=0)Nc2ccl
0=CINC (=0) c2c3c ([nH]c4c3cceed) c3c (c4[nH]cecdeed) cl12

Fele (C(=0) c2c (0CCCC) e3¢ ([nHlne3) ne2) ¢ (F) cecl

Fcle (C(=0) c2c (N) ne3n2C=C (C (=C) c2c¢ (F) cccc2F) C=C3) ¢ (F) cccl
0(C) clce (Ne2nce (—c3c4n (ne3) N=C (0C) C=C4) ccn2) cecl

0C[C@H] (Nc1nc (NCc2ccce (—e3nceee3) ce2) c2nen (C(C) C) c2nl) CC
Fele2e (0CCO) ce (—e3[nH]cee3d) e3C (=0)Ne (¢23) ccl

0=C (Nc1n[nH]c2nc (=c3cc (0) cee3) cec12) C1CCL

0=C(N) clnn(-c2cncce2) c2clccel [nHlnec21

Fcle (N2CCNCC2) cee (Ne2nce3ce (¢ (0C) cee3en2) C2CCCC2) cl

S(=0) (=0) (N) clcce (Nc2[nH]nc (=c¢3ce (NC(=0)Nedc (F) cce (C(F) (F)F) c4) cec3) c2) el

0=C(Nc1c2C (=0) c3c (-c4c (C) sc (C) c4) [nH]nc3—c2cccl)N

S (=0) (=0) (NC12CC3CC(C1)CC(C2)C3) clece (NC(=0)Ne2nene3n ([CeH]4[CeeH] (0) [Ceet] (0) [CeH] (C (=0

)NCC) 04) cnc23) ccl

Fclee (CNc2oc (—c3c4ce ([nH]c3) ncee4) nn2) cecl

S(=0) (=0) (N) clcce (/N=C\[C@H]2C (=0)Nc3c2ccc (CO)c3) ccl

Breln ([C@eH]2[CeeH] (0) [CeH] (0) [C@H] (CO) 02) c2nence (N) ¢2¢1C(=0)N

S (=0) (=0) (N(C) C) clecce (NC=2n3ncc (C(C) C) e3N=C (NC3CCC (NCC) CC3) C=2) cc1

0=C (N1CCNCC1) clene (Ne2ne3n4C5 (CNC (=0) c4ce3en2) CCCCC5) cel
S(Ccloc(C(C) (C)C)cnl)clsc (NC(=0) [C@eH] (C) c2cccee2) nel

FC(F) (F)Oclcc2[C@eH] (c3c (N=0) c4c ([nH]3) cce (F) c4) C(=0) Nc2cecl
Brcle (—c2ccc (0) cc2) ne2[nH]ne (NC (=0) CCCN3CCN (CC) CC3) c2c1

Clclee (NC=2n3ncce (C(C) C) ¢3N=C (N[C@H] (C(C)C) CO)N=2) cccl

Clclc2c (=c3nc (N)nce3) c[nH]c2nccel
Brclec2/C(=N\Nc3ccc (S(=0) (=0)N) cc3) /C(=0)Nc2ccl

0=C(NC) ¢c1nn (C) c—2¢1C(C) (C) Cclc—2nc (Nc2cc (CN3CCN(C) CC3) cce2) nel
S(=0) (=0) (N(C)C) clcee (NC=2n3ncce (C(C) C) ¢3N=C (NC3CCC (N) CC3) C=2) ccl
0=C(NC) ¢1nn(C) c—2¢1C(C) (C) Cclc—2nc (Nc2cce (N(C)C) cc2)nel
Brclece (CC2=Ne3n (—c4e (C1) cc (C1) cc4Cl) ne (CC) ¢3C (=0)N2) ccl
0=C1IN(CCCC) c2nc (Nc3cceee3) nec2C=C1

0=CIN(C(C)C) c2nc (Ne3cee (N4CCN (C) CC4) ce3) nce2C=C1

Clcle (NCC2CCNCC2) c2nce (=c3ce (0C) ¢ (0C) cc3) [nH]c2ncl

0(C) clee2[nH]e3c4ce (C) cehe (n(C) ceb) c4c4C (=0)NC (=0) c4c3c2ecl
FC(F) (F)Oclc2cc (Ne3ne (—c4cee (0CC/C=C/CN(C)C2) cce4) cen3) cel

0=C (Nc1[nH]nc (C2CC2) c1)Cclcee (—c2cccce?) ccl

0=C (Nc1sc (€2CCC2) cnl)Nclc2c (cene?2) cecl

0=C(Nc1c2C (=0) c3c (C4CC4) [nH]nc3—c2cccl) CN1CCC (CN) CC1

0=C(NC) ¢c1nn (C) c—2c1C(C) (C) Cclc—2nc (Nc2cce (CN3CCN (C) CC3) cc2) nel
0=C (Nc1¢2C (=0) c3c (~c4cee (0C) ce4) n[nH] e3-c2cecl) CN1CCSCC1

S (=0) (=0) (N(CCC)CCC) clecce (NC(=0)Ne2nene3n ([C@H] 4 [C@aeH] (0) [CaeH] (0) [C@H] (C (=0) NCC) 04) cnc2

3)ccl

Fcle2ce (NCCO) ce (=c3[nH]cce3) ¢3C (=0)Ne (c23) ccl

Clcle (0C) cec2NC (=0) /C(=N/Nc3cece (S (=0) (=0)N) cc3) /c12
S(=0) (=0) (N) clcce (/N=C\[C@@H]2C (=0)Nc3c2c (CO)cced) ccl

0=C (NNC (=0) c1c2c (ccel) cece2)Nele2C (=0) c3c (—c4ceece (0C) cc4) n[nH] c3-c2cccl

Clcle (C(=0)C2=Cn3c (C(=0) c4c (F) cccedF) ¢ (N)ne3C=C2) ¢ (C1) ccel
Fclee2NC (=0) N (c3nce (—c4cence4) se3) Ce2ecl

Clcle (C(=0) C2=Cn3c (C(=0) c4c (F) cc (0) cc4F) ¢ (N) ne3C=C2) ¢ (C1) ccel
0=C(Nclc (-c2[nH]c3c (n2) ccce3)nlnf]cl) cleceeel

S (=0) (=0) (N1CCOCC1) clcece (NC(=0) Ne2nene3n ([C@H] 4 [CeeH] (0) [CeeH] (0) [C@H] (C(=0)NCC) 04) cnc23

)eel

0=C (NN1CCOCC1) Ne1c2C (=0) c3c (—c4sc (C (=0) NCCN5CCOCC5) cc4) [nH]lne3-c2cccl

0=C(Nc1[nH]nc2c1CN(C(=0)NCCCC) C2) Cecleec (N2C (=0) CCC2) ccl
Fele (CC(=0)Ne2 [nH]ne3c2CN (C (=0) NCCCC) C3) ccecl
S(Ccloc(C(C) (C)C)cenl)clsc (NC(=0)NCC)ncl
S(CC(=0)0C(C) (C)C) clsc(NC(=0)C)ncl

S (=0) (=0) (N(CC=C)C) clcce (NC(=0) Ne2nene3n ([C@H] 4 [CeeH] (0) [CeeH] (0) [C@H] (C(=0)NCC) 04) cnc23

)cel

S(Ccloc(C(C) (C)C)cnl) clsc (NC(=0) [C@@H]2NCCC2) ncl
Iclec (CNe2ne (NC3CCC (N) CC3) ne3n (C4CCCC4) ene23) cecl
S(Ccloc (C(C) (C)C)enl) clsc (NC(=0) CC2CCCCC2) nel
FC(F) (F) clec (Ne2ne (—¢3c4n (ne3) N=C (C) C=C4) ccn?2) cccl
0(C) c1c(0C) cce (Ne2ne (—c3c4n (ne3) N=CC=C4) ccn2) cl
Brclece (C(=0)Ne2[nH]nc (C3CCCC3) c2) cel
0=CIN(CCC) c2nc (Nc3cceee3) nee2C=C1
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S(=0) (=0) (Cclcee (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cee3) cel)C
0=C1/C(=C/c2[nH]cc3C (=0)NCCc23) /c2c (C3CCNCC3) cecc2N1
0=C (Nc1¢2C (=0) ¢3¢ (C(C)C) [nH]nc3—-c2ccel) CN1CCC (CN) CC1
S(Ccloc (C(C) (C)C)enl) clsc (NC(=0) C2CCNCC2) nel

S(C) clnc (NCc2cce (=c3ncceed) cc2) c2[nH]nc (C(C) C) ¢2nl
Fclc2c (NCCCN) ce (—e3[nH]cce3) ¢3C (=0) Ne (¢23) cel

S(Ccloc (C(C) (C)C)cenl) clsc (NC(=0) C2CCNCC2) ncl
N(Cclceeeel) clne (NC2CCC (N) CC2) ne2n (C3CCCC3) cnel?2

0=C (Nc1[nH]nc (C2CC2) c1) Cclceecel

Clele (C(=0)Nc2ce (C(=0)NC3CCNCC3) [nH]nc2) ¢ (C1) cecl
0=C(NC) ¢c1nn (C) c—2¢1C(C) (C) Cclc—2nc (Nc2cc (OC3CCN(C) CC3) cce2) nel

S (=0) (=0) (N(C) C) clcce (NC (=0) Ne2nene3n ([CeH] 4 [Ceet] (0) [C@eH] (0) [CeH] (C (=0) NCC) 04) cne23) cc

1

Clcle (C(=0)C2=Cn3c (C(=0) c4c (F) cc (C(=0)N) cc4F) ¢ (N) nc3C=C2) ¢ (C1) cccl
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0=C (NN1CCOCC1) Ne1e2C (=0) e3c (—c4sc (C(=0) NSCCN (CC) CC5) ce4) [nH]ne3-c2cecl
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Felce2c (NCON) ce (—c¢3[nH]cee3) ¢3C (=0) Ne (¢23) ccl

0=C (NNC (=0) clcencel)Nele2C (=0) e3c (—cdece (0C) ce4) n[nH] e3-c2ccecl
0=C1IN(C2CCCC2) c2nc (Nc3cceee3) nee2C=C1
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0=C (NN1CCOCC1)Nc1c2C (=0) c3c (—c4sc (C(=0)N5C[C@@H] (NC) CC5) cc4) [nH]nc3—c2cccl
S(Ccloc (C(C) (C)C)enl) clsc (NC(=0) CC2CCNCC2) nel
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0=C (NNC (=0) c1cc (0) ¢ (0) cc1)Nele2C (=0) e3¢ (—c4ceee (0C) cc4) n[nH] c3-c2cecl
0=CINC (=0) c2c3c ([nH] c4c3cce (C#N) c4) c3c (c4n (C) cecdee3) c12

0=C (NNC (=0) c1cce (N) cc1)Nele2C (=0) c3c (—cdeece (0C) ced) n[nH] e3-c2ccecl
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0=C (C) C=1C (=0) N(C2CCCC2) c2nc (Ne3nce (N4CCNCC4) ce3) nec2C=1C

0=C (NN1CCOCC1)Nc1c2C (=0) c3c (—c4sc (C) ce4) [nH]nc3—-c2cccl

Brcle2n (C(Ne3eece (S (=0) (=0)N(C) C) ce3)=CC (NC3CCC (N) CC3)=N2)ncl
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Brclece (—c2n[nH]c (Ne3cce (S(=0) (=0)N) cc3) c2) ccl

S(=0) (=0) (N(C)C) clcce (—n2nc (C(=0)N) c3c2c2c ([nH]nc2) cc3) cel

S(=0) (=0) (N) clece (N/N=C\2/C(=0)Nc3c/2cc (0)ce3) ccl

0=[N+] ([0-]) clcc (Ne2ne (e3¢ (C)ne (N) s3) cen2) cecl

S(=0) (=0) (Nc1ncceel) cleece (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cec3) ccl
S(=0) (=0) (N) clcce (N=NC=2C (=0) NC=3C=2C2=NNNC2=CC=3) ccl

S(=0) (=0) (NN1C=Cc2c (cccc2)Cl) clece (/N=C\[C@@H]2C (=0) Nc3c2c2scnc2cec3) ccl
S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2c (/C=C\c2ccc (0)cc2)cce3)cel
S(=0) (=0) (N) clcce (Ne2[nH]ne (—c3cc (0) cce3) c2) cel

0C (CNc1ne (NCe2ccc (=c3ncceed) cc2) c2 [nH]ne (C(C) C) c2nl) (C)C
0=C1/C(=C/c2[nH]cc3C(=0)0CCc23) /c2c (C3CCNCC3) ccce2N1

S(=0) (=0) (NC) clce2/C(=C\c3[nH]cc4C (=0)NCCc34) /C (=0)Nc2ccl

0=C (Nc1¢2C (=0) c3c (-c4cesced) [nH]nc3—-c2cccl)N

Clcle (=n2nc (CC) c3C (=0)NC (Cc4cee (NC (=0) C) cc4)=Nc23) c (C1) cc (C1) ¢l
Fele (C(=0) c2c (0CCCC) e3¢ ([nHIne3)ne2) ¢ (F) cc (C) cl

Fclee2[nH]ce3c (c2ccl) c1C(=0)NC(=0) clcle2n(C) ccc2ece3l

Fele (C#CC@eH] (N) [C@H] (0)C) c2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
0=C (NN1CCOCC1)Nc1c2C (=0) ¢3¢ (—c4c (C) nc (C) s4) [nH]nc3-c2cccl

Clcle (-n2nc (C(C)C) c3C (=0)NC (Cc4ecce (OCCNSCCOCCH) ccd) =Ne23) ¢ (C1) ceel
0=C(NNC (=0) clccc (0) cc1)Nele2C (=0) c3c (—cdece (0C) cc4) n[nH] e3-c2cccl
0=C (NNC (=0) c1c (0) ccce1)Nele2C (=0) c3c (—cdeece (0C) cc4) n[nH] e3—c2cccl
0=C(N) clnn(=c2ccc (0C) cc2) c2clceel[nH]ncc2l

0=C(N) clnn(-c2cc(C) cce2) c2clecel [nHlnec2l

0=C (Nc1[nH]nc (C2CC2) c1) Celcee (—c2cc (C) cee2) cel
Fclec20CC/C=C/CN(C) Ce3ce (Ne4ne (—c(cl) c2) cend) cecd

0=C(NNC (=0) c1c (0) cccc1)Nele2C (=0) ¢3¢ (—cdcecc (0) ce4) [nH]ne3—-c2cccl
S(=0) (=0) (N) clccce (/N=C\ [C@@H]2C (=0) Nc3c2c (C (=0) 0CC) cce3) ccl
0=S1(=0) Cc2c (ccc (/N=C\ [C@@H] 3C (=0) Nc4c3cc (—c3ocne3) ccd) c2) Cl
S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2cc (C(=0)NCc2ccncc2) cc3) ccl
[0+H]=Nclc ([C-]12C (=0)Nc3c2cc ([N+] (=0) [0-]) cc3) [nH]c2clce (C) cc2
FC(F) (F)Oclcc2[C@eH] (c3c (N=0) c4c ([nH]3) ccc (0) c4) C(=0) Nc2ecl

0=C (Nc1¢2C (=0) ¢3¢ (=c4cce (0C) cc4) n[nH] e3-c2cccl) CN1CCC (C (=0)N) CC1
0=C (Nc1¢2C (=0) c3c (~c4cce (0C) ce4) n[nH] e3-c2cccl) CNICCN (C (=0)N) CC1
0=CINC (=0) c2c3c4[nH] cccdece3e3n (CCCO) cde (c3cl12) ceecd

Fclc (C#CLC@@H] (NC) CO) c2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl

0=C (NN1CCN(C) CC1)Nc1c2C (=0) ¢3¢ (—c4c (C)nc (C) s4) [nH]nc3-c2cccl
0=C(Nc1[nH]nc2C(C) (C)N(C(=0)C3CCN(C)CC3)Cc12)CC(C)C

S(=0) (=0) (NCCN(C)C) clcce (Ne2ne (—¢3n4N=CC=Cc4nc3) ccn2) ccl

S(=0) (=0) (C)N1CCC (C (=0)N2CCC (Ne3ncd—chn (C) ne (C(=0)NC) c5CCc4cn3) CC2) CC1
Clclec2[C@@H] (c3c (N=0) c4c ([nH]3) cce (F) c4) C(=0)Ne2ccel

Clclcee (-n2nc (C(=0)N) c3c2c2c ([nH]nc2) ce3) cel

0=C(N) clnn(-c2nccce2) c2clecel [nH]nec21

FC(F) (F)C(=0)Nclcc2Ne3ne (—c4ce (0CC/C=C/CN(C)Cc (cl) c2) cce4) cend
Clcle2n(C(Ne3cee (S(=0) (=0)N(C)C) ce3)=CC(NC3CCC(N)CC3)=N2)ncl
S(=0) (=0) (CNclcc2Nedne (—c4ee (0CC/C=C/CN(C)Ce (c1) c2) cee4d) cen3) CC
FC(F) (F) clec (Ne2nce (—c3c4n (ne3) NC (=0) C=C4) ccn2) cecl

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2c (CC)cced) ccl

S(=0) (=0) (N)Cclcee (/N=C\[C@H]2C (=0)Nc3c2c2scnc2ce3) cel

[0+H]=Nclc ([C-]2C (=0)Nc3c2cce ([N+] (=0) [0-]) cc3) [nH]c2clcecc?

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2c2scnc2ce3) cel

N(C(C) (C)clcccecel)cloc (—c2¢3c ([nH]c2) nceed) nnl

0=C(Nc1c2C (=0) c3c (-c4ccc (0C) cc4) n[nH] e3—-c2cccl) CNICCN (C (=N)N) CC1
0=C (Nc1¢2C (=0) c3c (~c4cce (0C) cc4) [nHlne3—c2cecl)N

Fele (C#C[C@@H] (NC) [C@H] (0)C) ¢2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
Clclsce (—c2[nH]lnc-3¢2C (=0) c2c¢ (NC (=0)NN(C) C) ccce—32) cl

0=C (C)N1CCC (Ne2ne3—c4n (C) ne (C (=0)N) ¢4CCc3cn2) CC1

Fcle2c (CCON) ce (—e3[nH]ceed) ¢3C (=0) Ne (¢23) cel

Clcle (-n2nc (C(C)C) c3C(=0)NC (Cc4cec (0C) ce4)=Nc23) ¢ (C1) cc (C1) cl
0(CC) cle2c (=c3nc (N)nee3) ¢ [nHlc2necel

S(=0) (=0) (N(C) C) clcce (NC=2n3nce (C#N) ¢3N=C (NC3CCC (N) CC3) C=2) ccl
Nclce2Ne3ne (—c4cee (0CC/C=C/CN(C)Cc (cl) c2) cce4d) cend

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2cc (C(=0)NCC(CO) (C)C)ce3) ccl
FC (F) (F) clc (CN2CCN (CC0) CC2) cee (NC (=0) c2cc (C#Ce3n (C) ¢ (C(=0)NC) ne3) ¢ (C) ce2) el
S(Ccloc(C(C) (C)C)enl) clsc (NC(=0) [C@H] (C) c2cceee2) nel
S(Ccloc(C(C)C)enl)clsc (NC(=0)C)ncl

0=C (NN1CCOCC1)Nc1c2C (=0) c3c (=c4sc (C (=0) N5CCNCCC5) cc4) [nH]nc3—-c2cccl
0=CINC (=0) c2c3c ([nH]c4c3ccc (0) c4) c3c (c4[nH]cecdeed) cl12

0=[N+] ([0-]) clc (N2C[C@H] (C (=0)N) CCC2) c¢2/C (=C\c3c (0C) cc[nH]3) /C (=0) Nc2ccl
0=[N+] ([0-]) c1c (NC2CCC (0) CC2) c2/C (=C\c3c (0C) cc [nH]3) /C (=0) Nc2ccl
Fele (C#CC2 (0) CCNCC2) ¢2/C (=C\c3c (0C) cc [nH]3) /C(=0)Nc2ccl

S(=0) (=0) (N) clecce (Ne2ne (Ne3e (F) cee (C) ¢3) cen2) cel

S(=0) (=0) (N) clcce (Ne2ne (Ne3ce (F) cee (C) ¢3) cen2) ecl

N(clnc (-c2c¢3n(nc2)N=C(C) C=C3) ccnl) clecc20CC0c2ccl

N(clnc (-=c2¢3n (nc2)N=CC=C3) ccnl) c1cc20CC0c2ccl

N(clnc (-c2c¢3n (nc2)N=CC=C3) ccnl) c1cc20CCCOc2ccl

0(C) [CeeH]1[ca@H] (NC)C[Cc@H]20[C@]1(C)nlc3c4n2c2c (c4c4C (=0)NCc4c3c3clecee3) ceee?
S(=0) (=0) (C) clcce (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cc3) cel

S(=0) (=0) (NC)Cclecce (N/N=C\2/C(=0)Nc3c/2c2scnc2ce3) cel

S(=0) (=0) (NC) clccc (/N=C\[C@@H]2C (=0)Nc3c2c2scnc2ccd) ccl
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S(=0) (=0) (N(C) clncccel) clece (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cel) cel
S(=0) (=0) (NCclccecel)cleee (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cel)ccl
Clclec2[C@@H] (c3c (N=0) c4c ([nH]3) ccc (0) c4) C(=0)Ne2ccel
0(C(C)C)clc2e (=c3nc (N)nce3) ¢c[nH]c2necel
S(Ccloc(C(C) (C)C)enl) clsc (NC(=0)C)nel

S(Ccloc(C(C) (C)C)cnl)clse (NC(=0) Cc2cnecc2)nel
S(Ccloc(C(C) (C)C)enl) clsc (NC(=0)C)ncl

S(Ccloc(C(C) (C)C)enl)clsc (NC(=0)C(C)C)ncl

S(Ccloc(CC)cenl)clsc (NC(=0)C(C)C)ncl

S(Ccloc(CC)cenl)clsc (NC(=0)Cc2cncce2) nel
S(Ccloc(C(C) (C)C)enl) clsc (NC(=0)C)ncl

0=C(NN(C) C)Nc1c2C (=0) c3c (—c4cce (0C) ce4) n[nH] c3—c2cccl

0=[N+] ([0-]) c1c (N2C[C@eH] (C (=0)N) CC2) c2/C (=C\c3c (0C) cc [nH]3) /C(=0)Nc2ccl
0=[N+] ([0-]) c1c (N2C[C@@aH] (0) CC2) c2/C (=C\c3c (0C) cc [nH]3) /C (=0) Ne2ecl

0=[N+] ([0-]) c1c (N[C@@H]2C [C@@H] (0) CC2) c2/C (=C\c3c (0C) cc [nH]3) /C(=0) Nc2ccl
0=[N+] ([0-]) clc (N[C@@H]2C[C@@H] (N) CC2) c2/C (=C\c3c (0C) cc[nH]3) /C (=0) Nc2ccl

0=[N+] ([0-]) c1c (NC2CCNCC2) c2/C (=C\c3c (0C) cc[nH]3) /C (=0)Nc2ccl
0=[N+] ([0-]) c1c (N2CCC (N) CC2) ¢2/C (=C\c3c (0C) cc [nH]3) /C (=0) Ne2ecl
Fele (C#CC@EH] (N)CO) c2/C (=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl

Fele (C#C[CeH]2NC[Ce@H] (0)C2) ¢2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2cecl
S(=0) (=0) (NCCN(C)C) clece (Ne2nc (—c3n4c (ne3) C=CC=C4) ccn2) ccl

S(=0) (=0) (N(CCCN(C)C)C) clece (Ne2nce (—e3ndce (ne3) C=CC=C4) ccn2) ccl
S([C@eH]1CNCC1) clc2c (F) cec3NC(=0) ¢ (c (—=c4[nH]cced) c1) c23

Felc2c (CCCHN) ce (—e3[nH]cce3) ¢3C (=0) Ne (¢23) cel

Clclce (Ne2ne (—c3n4c (ne3) C=CC=C4) ccn2) cccl

0=C(N) clnn(-c2ccc (C#N) cc2) c2clcecl [nH]nce2l

S(=0) (=0) (N(C)C) clcce (Ne2nee3ce ([nH] ¢ (—c4c[nHlnc4) c3) c2) cel

Brele (—c2ccc (0) cec2) ne2[nH]ne (NC (=0) C3CC3) c2c1

0=C (Nc1n[nH]c2nc (¢ (=c3ccece3d) cel2) —clece (0) ccl) C1CC1
0=C(Nc1n[nH]c2clcee (—cleec (0) cel) ¢2) C1CCL

N(clnc (-c2¢3n(nc2) N=CC=C3) ccnl) cleccecl

S(=0) (=0) (NCCO) clcce (/N=C\ [C@@H]2C (=0)Nc3c2c2scnc2ec3) ccl
Tc1c2/C(=N\Nc3ccc (S(=0) (=0)N) cc3) /C(=0)Nc2cccel

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2¢ (C) c ([N+] (=0) [0-]) cc3) ccl
S(=0) (=0) (N(C)C) clccc (/N=C\[C@@H]2C (=0)Nc3c2c2scnc2ccd) ccl

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2cc (C(=0)N) cc3)cel

S (=0) (=0) (NCCOCCOCCOCCOC) clece (/N=C\[C@@H]2C (=0)Nc3c2c2scnc2cc3)cel
S(=0) (=0) (Nclccceel) cleee (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cec3) ccl
S(=0) (=0) (NC) clcc2/C(=C\c3[nH]cc4C (=0)0CCc34) /C(=0)Nc2ccl

0=C(0) clcc2/C(=C\c3[nH]cc4C (=0) 0CCc34) /C(=0)Nc2ccl

S(Ccloc(C(C) (C)C)cenl)clsc (Ne2ceeee2)nel

S(Ccloc (CC2CCCCC2) enl) clsc (NC(=0)C)ncl

0=[N+] ([0-]) c1c (N2CCC (0) CC2) c2/C (=C\c3c (0C) cc [nH]3) /C(=0) Nc2ccl
Fclc (CHCCONC) ¢2/C (=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl

Clcle (-=n2nc (C(C)C) c3C(=0)NC (Cc4cee (0C) cec4) =Nc23) ¢ (C1) cecl

Fele (C#C[C@H] (NC) CO) c2/C (=C\c3c (0C) cc [nH]3) /C (=0) Ne2ccl

Fclc (C#CC2 (0) CCOCC2) c2/C (=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl

Fele (C#C[C@H]2NC[CeH] (0) C2) c2/C(=C\c3c (0C) cc[nH] 3) /C(=0)Nc2ccl
0=C(NN(C) C)Nc1c2C (=0) c3c (—c4c (C)nc (C) s4) [nH]nc3-c2cccl

S(=0) (=0) (NCCCOC) clcec (Ne2ne (—e¢3n4ce (ne3) C=CC=C4) ccn2) ccl

Fclc (C#CLC@@H] (0)CN) c2/C (=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
0=C(Nc1[nH]nc (C2€C2) c1) Cclcee (=c2ccc (C(=0)N) cc2) cel

S(=0) (=0) (N)clcce (—n2nc (C(=0)N) c3c2-c2c ([nH]nc2) CC3) ccl

S(=0) (=0) (N(C) C) clcce (NC=2n3nce (C4CCCC4) ¢3N=C (NC3CCC (N) CC3) C=2) ccl
Fclee (—c2ccec (CC(=0)Ne3[nH]Inc (C4CC4) ¢3) cc2) cecl

S(=0) (=0) (NCCc1[nH]encl) cleee (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cec3) ccl
0=CINCC2 (n3c4nc (Nebnee (N6CCN (C (C) €C) CC6) ccb) necdecl3) CCCCC2

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2c (0C(C)C) ceel) cel

S(=0) (=0) (NC(=N)N) clccc (/N=C\ [C@@H]2C (=0) Nc3c2c2scnc2cel) ccl
0=CINCC2 (n3c4nc (Nc5nee (N6CCNCC6) cch) necdec13) CCCCC2

S(Ccloc(C(C) (C)C)ncl)clsec (NC(=0)Cc2ccecc2)nel

0[ceeH] ([C@aH] (NC1=Nc2c (C(C) C) cnn2C (NCc2cccec2) =C1) CO) CO
S(Ccloc(C(C) (C)C)cenl)clsc (Ne2nee (CNCC (CO) (C)C) ce2) nel

Clcle (NC (=0)Ne2sce (SCe3oc (C(C) (C)C) en3) cn2) ¢ (C1) ceel

S(Ccloc(C(C) (C)C)cenl)clsc (NC(=0) Cc2cce (CNC(CO) CO) cc2) nel
S(Ccloc(C(C) (C)C)enl) clsc (NC(=0)Ce2ccce (CNC(CO) CO) ce2) nel
S(Ccloc(C(C) (C)C)cenl)clse (NC(=0)Cc2ccecc2)nel

0=[N+] ([0-]) clc (N2C[C@H] (0)CC2) c2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
0=[N+] ([0-]) c1c (N2C[C@H] (N) CC2) ¢2/C (=C\c3c (0C) cc [nH] 3) /C(=0) Nc2ccl
0=[N+] ([0-]) clc (N2C[C@H] (NC=0) CC2) c2/C (=C\c3c (0C) cc[nH]3) /C (=0)Nc2ccl
Fele (C#CLC@H] (N) CO) ¢2/C(=C\c3c (0C) cc[nH]3) /C(=0) Nc2ecl

Fclc (C#C[C@@H] (0) [C@@H] (N) [C@H] (0)C) c2/C (=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
S(Ccloc(C(C) (C)C)cenl)clsc (Ne2eneee2) nel

S(=0) (=0) (NCCOC) clcce (Ne2nc (=c3c (C) nc4n3N=CC=C4) ccn2) ccl

S(CCN) clc2c (F) cce3NC(=0) ¢ (¢ (—c4[nH]cced) c1) c23

S(=0) (=0) (N) clcce (/N=C\[C@@H]2C (=0) Nc3c2cc (C(=0)0CC(C)C)cc3) ccl
0(CCC) clc2c (—c3nc (N)need) c[nH]c2necl

Fele (C(=0)Ne2ce (C (=0)Ne3ccee (F) ce3) [nHlne2) ¢ (F) cecl

0=C(N) c1nn(C) c2-c3nc (Nc4c (C) ccecd) nce3CCe12
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0=C (Nc1[nH]nc (C2CC2) c1) Ceclcee (—c2sccc2) cel

N(clnc (-=c2c¢3n (nc2)N=CC=C3) ccnl)clcc (C) cc (C)cl

S(=0) (=0) (N) clcce (/N=C\[C@H]2C (=0)Nc3c2c2scnc2cel) cel

S(=0) (=0) (N) clcce (/N=C\[C@@H]2C (=0)Nc3c2cc (-c2ocnc2) cc3) cel
S(=0) (=0) (N) clecce (N/N=C\2/C(=0)Nc3c/2c (C(C)C)ccel) cel
Fclee2[C@@H] (c3c (N=0) c4c ([nH]3) cce (0) c4) C(=0)Nc2ccel

S(=0) (=0) (N) clece (N/N=C\2/C (=0)Nc3c/2cc (—c2ocnc?2) ce3) cel
C1C=INNC=2C=1C1=C (N=Ne3ccc (S (=0) (=0)N) cc3) C (=0) NC1=CC=2

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2cc (C(=0)NCc2cncece2) cc3) ccl
S(=0) (=0) (N) clcce (/N=C\ [C@H]2C (=0)Nc3c2cc (C (=0) 0C) cc3) ccl
0CC[C@H] 1IN (C2=Nc3c (CC) cnn3C (NCe3c [n+] ([0-]) cce3)=C2) CCCC1
S(Ccloc(C(C) (C)C)cnl)clsc (Ne2neeee2) nel

S(=0) (=0) (NCCO) clcce (Ne2sc (SCe3oc (C(C) (C)C) en3) en2) ccl
S(Ccloc(C(C) (C)C)cnl)clse (NC(=0)Nc2c (F) cecc2F) nel

0=[N+] ([0-]) c1c (N2C[C@@H] (0) CCC2) c2/C (=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
0=[N+] ([0-]) c1lc (N2C[C@@H] (CO) CCC2) c2/C (=C\e3c (0C) cc [nH]3) /C (=0) Ne2cel
Fele (C#C[C@H]2NCCC2) ¢2/C (=C\c3c (0C) cc [nH]3) /C (=0) Ne2ccl

S(=0) (=0) (NC) clcce (—n2nc (C(=0)N) c3c2c2c ([nH]nc2) cc3) cel

S(=0) (=0) (NCCCC) clece (—n2nc (C(=0)N) c3c2c2c¢ ([nH]nc2) cc3) cel

S(=0) (=0) (N) clcce (/N=C(/C)\[C@H]2C (=0)Nc3c2cc (—c20cnc?2) ce3) ccl
Brele2n(C(Ne3cee (C1) ¢ (S (=0) (=0)N(C) C) cc3)=CC (NC3CCC (N) CC3)=N2) ncl
0=C(N) c1nn(C) c2-c3nc (Ncdcce (NSCCN (C) CC5) cc4) nce3CCe12

0=C(N) c1nn(C) c2-c3nc (Nc4ccceed) nce3CCel2

0=C(N) c1nn(C) c2-c3nc (Ncdcceceed) nce3CCel2

Fcle (F) cce (Ne2ne (—c3c4n (ne3) N=CC=C4) ccn2) cl

FC(F) (F)Cnlnc (C(=0)N)c2clclc ([nH]ncl)cc2

0=C (Nc1[nH]nc (C2CC2) c1) [C@@H] (C) clcce (N2C (=0) c3c (cece3) C2) cel
0=C (Nc1[nH]nc (C2CC2) c1) [C@@H] (C) clcce (N2C (=0)NCC2) ccl

Brcle (0) cee (—c2ne3 [nH]lne (NC (=0) C4CC4) c3cc2) cl

Clclc(0)cce (=c2ne3[nH]lne (NC (=0) C4CC4) c3cc2) cl

S(=0) (=0) (N) clece (Ne2nn (C(=0) c3c (F) ceec3F) ¢ (N)n2) ccl

0(C) clce (Ne2nce (—c3c4n (ne3) N=CC=C4) ccn2) ceel

0(C) [CeeH] 1 [CcaeH] (NC)C[Cc@H]20[C@]1(C)nlc3c4n2c2c (c4c4C(=0)NCc4c3c3cleceed) ceee?
[0+H]=Nclc ([C-]12C (=0)Nc3c2cc ([N+] (=0) [0-]) cc3) [nH]c2clce (0) cc2
S(=0) (=0) (N) clcce (/N=C\[C@H]2C (=0) Nc3c2cc (C(=0)CC(C)C) cec3) ccl
Fclee2e (N=0) ¢ ([C@H]3C (=0)Nc4c3cc (F) ce4) [nH]c2ccl

Fclee2e (N=[0+H]) ¢ ([C-]13C (=0) Nc4c3ce ([N+] (=0) [0-]) cc4) [nH]c2ccl
S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2cc (C(=0)NCc2c (0C) cccc20C) cc3) ccl
0(C) [CeeH]1[CcaH] (NC)C[CceH]20[C@]1(C)nlc3c4n2c2c (c4c4C(=0)NCc4c3c3cleceed) ceee?
0=CINCC2 (n3c4nc (Ncbnee (N6CCN (C) CC6) cch) necdecl3) CCCCC2

0=CINCC2 (n3c4nc (Ncbnee (N6CCN (C) CC6) cch) necdecl3) CCCCC2

S(=0) (=0) (N) clcce (N=NC=2C (=0) NC=3C=2C=2C (NC=CC=2) =CC=3) cc1
0=CINCC2 (n3c4nc (Nebnee (N6CCN (C (C) C) CC6) ccb) necdec13) CCCCC2

S(=0) (=0) (N) clcce (N/N=C\2/C(=0)Nc3c/2c (/C=C(\C) /C)cce3)ccl

S(=0) (=0) (N) clcce (/N=C\C=2C (=0) NC=3C=2C=2C (NC=CC=2) =CC=3) cc1
0=CINCC2 (n3c4nc (Nc5nce (N6CCC (N7CCOCCT) CC6) cch) necdec13) CCCCC2
S(=0) (=0) (N) clece (N/N=C\2/C(=0)Nc3c/2c (CC(C)C)cced)cel

0=CINCC2 (n3c4nc (Nc5nee (N6CCNCC6) cch) necdec13) CCCCC2

S(Ccloc(C(C) (C)C)cenl)clsc (Ne2nence2) nel

S(=0) (=0) (C) clcce (—n2nc (C(=0)N) c3c2c2c ([nH]nc2) cc3) cel

Fcle2c (0C) ce (—c3[nH]cce3) ¢3C (=0)Ne (¢23) ccl
o(ccicecccl) clne (N)ne2[nH]enel?2
0=C(clc(0Cc2ccccc2) c2e (n[nH]c2)ncl)clecceel

0=C(clc (0Cc2ccccc2) c2c ([ntH]cl) [nH]nc2) clcececl
0=C(clc(0Cc2ccccc2) c2e (n[nH]c2)nel)cleccecl

0=C(Nc1c2C (=0) c3c (-c4cce (0C) cc4) [nHlne3-c2cccl)N

0=C (Nc1¢2C (=0) c3c (-c4cce (0C) cc4) n[nH] ec3-c2cccl)N

Clclee (Ne2ne (N[C@H] (C(C)C)CO)ne3n(C(C)C)cne23) cecl

S(=0) (=0) (N) clcce (Ne2ne (0CC3CCCCC3) c3ne[nH]e3n2) cel

0(C) clece (CNe2ne (N(CCO) CCO)ne3n (C(C)C) cne23) cel

OCCNc1ne (NCe2cccece2) c2nen (C) c2nl

0C[C@H] (Nc1nc (NCc2cccec2) c2nen(C(C)C) c2nl) CC

[N+H3]C1CCC (Ne2ne (NCe3cceccee3) e3nen (C4CCCC4) c3n2) CC1

S(=0) (=0) (N) clece (/C=C/2\C(=0) c3c (0) cc (0) ¢ (CACC[N+H] (C) CC4) c30\2) ccl

0(C) [Ccea@H]1[ceH] ([N+H2]C)C[CeH]20[Ca]1(C)nlc3cdn2c2c (c4c4C(=0)NCcdc3c3cleeee3) ceee2
0(C) [CeeH] 1[ceH] ([N+H2]C)C[C@H]20[Ca]1(C)nlc3c4n2c2c (c4c4C (=0)N[C@H] (0) c4c3c3cleceed)cee

c2

Clcle (C(=0) [0-]) cce (Ne2ne (NLC@H] (C(C)C)CO)ne3n (C(C)C) cne23) ¢l
[N+H3]C1CCC (Ne2ne (NCC3CC3) c3nen (C4CCCC4) c3n2) CC1

S(=0) (=0) ([0-]1)clce2/C(/C(=0)Nc2ccl)=C/1\C(=0)c2c (N\1) cccc2
Brclec2/C(=N\Nc3ccc (S(=0) (=0)N) cc3) /C(=0)Nc2ccl

S(=0) (=0) (NC) clcce (N/C=C\2/C(=0)Nc3c/2cccel) cel

S(=0) (=0) (NC)Cclcce (N/N=C\2/C(=0)Nc3c/2c2scnc2cc3) cel

S(=0) (=0) (Nclscenl)cleee (N/C=C\2/C(=0)Nc3c/2ccced) cel

0=C (Nclncceel)Nele2[C@@H] 3N (C (=0) c2cecl) CCC3

S(=0) (=0) (N) clcce (Ne2n[nH] e (—c3cce ([N+] (=0) [0-]) ce3) c2) ccl
S(=0) (=0) (N)clcce (Ne2n[nH]c (—c3cce ([N+] (=0) [0-]) ce3) c2) cel
0=Nc1c (0CC2CCCCC2) nc (Nc2ccec (C(=0)N) cc2) nc 1IN

N(clnc (=c2¢ (C) nc3n2C=CC=C3) ccnl)clcceecl
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N(clnc (=c2¢ (C) [n+H] c3n2C=CC=C3) ccnl) clceccecl
S(=0) (=0) (N) clcce (Nc2ne (Nede (F) cee (C) ¢3) cen?2) ccl
0(c[ceet] (0) C[N+H] (C)C) clece (Ne2ne (—c3c¢ (C) ne4n3C=CC=C4) ccn?2) ccl

0 (CLca@et] (0) CIN+H] (C)C) clece (Ne2ne (=3¢ (C) [n+H] c4n3C=CC=C4) ccn2) ccl

S(Ccloc(CC)cenl)clsc (NC(=0)C(C)C)ncl

0=C(C(C)C)COclnc (N)nc2[nH]cncl2

0=C(C(C)C)COclnc (N)nc2[nH]cncl2
0(Cc[ceeH]1cc=CcCl) clne (N)nc2[nH]cnel?2
0(C[ceeH]1cc=CCC1) clne (N)nc2[nH]cnel?2
0(c[cen]10ccCl) clne (N)nc2[nH]cnel?2
0(Cc[ceH]10cCC1) clne (N)nc2[nH]cnel?2

0 (C[CeeH] INC (=0)CC1) c1nc (N) nc2[nH]encl2

0(C[C@EH] INC (=0)CC1) clnc (N) nc2[nH]cnc12

Clclee (Ne2ne (0CC3CCCCC3) c3ne[nH]e3n2) cecl

Clclee (Ne2ne (0CC3CCCCC3) e3nc[nH]e3n2) ceel
0(cc1ceeccl) clne (Ne2ceece2) ne2 [nH]encl2
0(cc1ceecCl) elne (Ne2cecee2) ne2[nH]encl2
0=C(clscenl)cle (0CCCC) c2¢ ([nHInc2) ncl
0=C(clscenl)cle (0CCCC) c2¢ ([n+H]cl) [nH]nc2
0=C(clscenl)cle (0CCCC) c2¢ ([nH]nc2) ncl

Brclec (F) ¢ (C(=0) c2c (0CCCC) ¢3¢ ([nH]ne3)ne2) ¢ (F) cl

Brelee (F) ¢ (C(=0) c2c (0CCCC) c3c ([n+H]c2) [nHlne3) ¢ (F)cl
Brclec (F) ¢ (C(=0) c2c (0CCCC) ¢3¢ ([nH]ne3)ne2) ¢ (F) el
0(C)clec2/C(=C\c3[nH]cne3) /C(=0)Nc2ccl
0(C)clcc2/C(=C\c3[nH]c[n+H]c3) /C(=0)Nc2ccl
0(C)clec2/C(=C\c3[nH]cc4C(=0)0CCc34) /C(=0)Nc2ccl

S(=0) (=0) (NC) clce2/C(=C\c3[nH]cc4C (=0)NCCc34) /C(=0)Nc2ccl
0=[N+] ([0-]) clcc2/C(=C\c3c (0C) cc[nH]3) /C(=0)Nc2ccl
S(CCIN+H3]) clc2c (F) cce3NC (=0) ¢ (¢ (—c4[nH]cccd) cl) c23

0=C (NN (C) C)Nc1c2C (=0) c3c (—c4cce (0C) cc4) [nH]nec3—c2cccl
0=C(NN(C) C)Nc1c2C (=0) c3c (—c4cce (0C) ce4) [nH]nc3-c2cccl

0=C (Nc1¢2C (=0) c3c (-c4ceneced) [nH]nc3—-c2cccl)C

0=C (Nc1¢2C (=0) c3c (-c4ceneced) [nH]ne3-c2ccel)C

0=C (Nc1¢2C (=0) ¢3¢ (-c4scce4) [nH]nc3—c2cccl)N

0=C(Nc1¢2C (=0) c3c (-c4scce4) [nH]nc3—-c2cccl)N

0=C (NN1CC[N+H] (C) CC1)Nc1c2C (=0) c3c (—c4c (C)nc (C) s4) [nH]nc3—-c2cccl
0=C (NN1CC[N+H] (C) CC1)Nc1c2C (=0) c3c (—c4c (C)nc (C) s4) [nH]nc3-c2cccl
0=Nc1c (0CC2CCCCC2) ne (N) neIN

0=Nc1lc (0CC2CCCCC2) [n+H]c (N) ncIN

S(=0) (=0) (Nc1lncceel)cleee (N/C=C\2/C(=0)Nc3c/2c2scnc2cec3) ccl

Clcle (C=20c3c ([C@@H] 4 [CeH] (0) C[N+@@H] (C) CC4) c (0) cc (0) ¢3C(=0) C=2) ccccl

0=S1(=0) Cc2c (ccc (N/C=C\3/C (=0)Nc4c/3cc (-c3ocnc3) ccd) c2) Cl
S(=0) (=0) (NC(=[N+H2])N) clcce (N/C=C\2/C(=0)Nc3c/2ccce3) ccl

0=[N+] ([0-]) clc (N2C[C@@H] (C (=0)N) CCC2) ¢2/C (=C\c3c (0C) cc[nH]3) /C (=0) Ne2ccl

0=C(0) clnc (NC(C) (C)C)c2c (nl)ccee2

0=C (Nc1¢2C (=0) c3c (=c4cce (0C) cc4) [nHIne3—c2cccl) CN
0=C(0CC) clnc (NC(C) (C)C) c2c (nl) ccce?

0=C (Nc1¢2C (=0) ¢3¢ (—c4cce (CCCC) ce4) [nH]nc3—c2cccl)C

S=C(NC (=0) [Cee] 1 (C) [CeH]2[Cee] (C) (c3c (cc(C(C)C)cec3)CC2)CCCL)Nelee (NCC (P (=0) (0CC) OCC) P (=0

) (0CC) 0CC) ccel

N(C(C) (C)C)clnenc2clecce?

0=C (Cnlnnc (-c2cccce2) cl) clc2e ([nH]cl) nece?
C(Cclc2c([nH]cl)ncee2)nlnne (—c2ccecc2) cl

Clele (NC(=S)NC(=0) [Cee]2 (C) [CeH]3[Cea] (C) (c4c (cc(C(C)C)cecd)CC3)CCC2) ce(Cl) e (NCC (P (=0) (0C

€)0CC) P (=0) (0CC)0CC) c1

S(=0) (=0) (N1CCCC1) clece (Ne2nne3n (C)nc (C) c3n2) ccl

S(=0) (=0) (N1CCNCCC1) clcee (Ne2nnedn (C) ne (C) ¢3n2) ccl
0(CC)CC1=Nc2n (—c3cccec3) ne (C) c2C (=0) N1

0=CIN(C) C(CNc2cccee2) =Ne2n (—c3ccceed) ne (C) 12

0=CINC (CN(CC) CC)=Nc2n (-c3cccee3)nc (C) cl2

0=CINC (CN2CCCCC2) =Nc2n (=c3cccee3) ne (C) c12

0=C1INC (CN2CCOCC2) =Nc2n (=c3cceee3) ne (C) c12

0C1CCC (Ne2ne (Ne3cee4e (n(Cebeeceeb) ced) ce3) ne (NCC) c2) CC1
S(=0) (=0) (N) clcec (Nc2nne3n (C)ne (C) ¢3n2) ccl

S(=0) (=0) (NC(C(C)C)C0)clcece (Ne2nne3n (C)ne (C) c3n2) cel
S(=0) (=0) (NCCN1CCOCC1) clece (Ne2nne3n (C)ne (C) c3n2) cel
S(=0) (=0) (NCC(0)C0)clcce (Ne2nne3n (C)ne (C) c3n2) cel

S(=0) (=0) (N1ICCN(C)CC1)clece (Ne2nne3n (C)ne (C) c3n2) cel
S(=0) (=0) (NCCO) clcce (Ne2nne3n (C)ne (C) ¢3n2) cel

0=C (C)N1CCN (c2cce (Ne3ne4e (e (0C) ce (C) c4en3) C3CCCC3) cc2) CC1
0=CIN(C2CCCC2) c2nc (Nc3cee (N4CCNCC4) ce3) nec2C (C) =C1
0=C1IN(C2CCCC2) c2nc (Nc3cee (NACCN (C) CC4) ce3) nec2C (C) =C1
0=CIN(C2CCCC2) c2nc (Nc3cee (N4CCOCC4) ce3) nec2C (C) =C1
0=C1IN(C2CCCC2) c2nc (Nc3cce (NACCC (CCCO) CC4) ce3) nee2C (C) =C1
0=CIN(C2CCCC2) c2nc (Nc3cee (N4CCNCC4) ce3) nec2C (C) =C1
0=C1IN(C2CCCC2) c2nc (Nc3cce (NACCNCC4) ce3) nec2C (CC) =C1
FC(F) (F) C=1c2c (N(C(=0)C=1)C1CCCC1) nc (Nc1lcee (N3CCNCC3) cel) ne2
0=CIN(C(C)C) c2nc (Nc3cee (NA4CCNCC4) ce3) nee2C (C) =C1
0=CIN(CCC(C)C) c2nc (Nc3cee (N4CCNCC4) ce3) nec2C (C) =C1
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0=CN1CCN (c2ccc (Ne3ne4N (C (=0) C=C(C) c4¢cn3) C3CCCC3) cc2) CC1
0=C (C)N1CCN (c2cce (Ne3ncedN (C (=0) C=C (C) c4cn3) C3CCCC3) cc2) CC1

0(C(C) (€)C)C(=0)N1CCN (c2cce (Ne3nedN (C (=0) C=C(C) c4cn3) C3CCCC3) ce2) CC1

0=C1IN(€2CCCC2) c2nc (Ne3cee (N4C[C@EH] (0) CC4) ce3) nee2C (C)=Cl1
0=CIN(C2CCCC2) c2nc (Nc3cce (NAC[C@@H] (N) CC4) cc3) nee2C (C)=C1
0=CIN(C2CCCC2) c2nc (Nc3cce (NACCNCCC4) ce3) nee2C (C) =C1
0=CIN(C2CCCC2) c2nc (Ne3cce (NACCN (CCO) CC4) ce3) nee2C (C) =C1

0=CIN(C2CCCC2) c2nc (Nc3cee (NAC[C@@H] (C)N[C@@H] (C) C4) ce3) nee2C (C)=C1

0=C1IN(C2CCCC2) c2nc (Nc3cce (NACC (C) (C)NCC4) cc3) nee2C(C)=C1
Clele (N2CCNCC2) cce (Ne2ne3N (€ (=0) C=C (C) c3cn2) C2CCCC2) ¢l
0=CIN(C2CCCC2) c2nc (Ne3cce (NACCNCC4) ce3) nee2C (C) =C1C

FC=1C (=0) N(€2CCCC2) c2nc (Ne3cce (NACCNCC4) ce3) nee2C=1C

0=C (0) C=1C (=0) N (C2€CCC2) c2nc (Ne3cce (NACCNCC4) ce3) nec2C=1C
0=C (0C) C=1C (=0) N(C2€CCC2) c2nc (Ne3ece (NACCNCC4) ce3) nec2C=1C
0=C (0CC) C=1C (=0) N (C2CCCC2) c2nc (Nc3cce (NACCNCC4) cc3) nce2C=1C
0(C)clc(C(C)C)c2ne (Ne3cce (NACCCC4) ce3) nec2ecl

0(C) clc(C2CCCC2) c2nc (Ne3cce (N4CCCC4) ce3) nec2ecl

0(C) clc(C2CCCC2) c2nc (Ne3eee (N4CCCCC4) ce3) nec2ecl

0(C) clc(C2CCCC2) c2nc (Nc3cce (NACCNCC4) ce3) nee2e (C) el

Oclc (C2CCCC2) c2nc (Ne3cce (N4CCNCC4) ce3) nee2e (C) el

0=C (Nc1¢2C (=0) ¢3¢ (—c4cce (0CC) cc4) [nH]ne3-c2cecl)C

0=C (Nc1¢2C (=0) ¢3¢ (CCC) [nHlnc3-c2cccl)C

0=C (Nc1¢2C (=0) ¢3¢ (CC(C)C) [nH]ne3-c2cccl)C

0=C (Nc1¢2C (=0) ¢3¢ (CCCC) [nH]nc3-c2cccl)C

0(C) cleee (=e¢2n(C)ne—3c2C (=0) c2c-3cccc2) cel

N(C(C) (C)C) clnc (Nc2ccecee2) nc2eleecc?

S(=0) (=0) (Nc1lnc (C(F) (F)F)nc2clccee2)C(C)C

0=C (Nc1ce2C (=0) c3c (—c4cee (0C) ce4) [nH]ne3—-c2ccl) C

0=C(Nc1n(-c2ccc(C)cc2)nc (C(C) (C)C)cl)Ncle2e (¢ (OCCN3CCOCC3) cel) ceec?
Clele(Cl) ceccINC (=0)Nele (€ (=0) N2CCN (CCN(C) C) € (=0) CC2) ce (C(C) (C)C) s1

0(C) clecee (=ec2n(=c3cceeeld) ne—3¢2C (=0) c2¢c—3ccece2) cel

Clcle (-n2nc (CC) ¢3C(=0)N(C) C(C)=Nc23) c (C1)cc(Cl)cl

Clcle (=c2[nH]nc—3c2C (=0) c2¢c (NC (=0) C) ccce—32) cc (C1) sl

0 (CC10C (N2C (=0)NC (=0) C (C)=C2) C=C1)P1(=0) 0c2c (C(C) (C)C) cccc2C01
S(=0) (=0) (nlc (-c2nnn(CCc3c4c ([nH]c3)nceed) c2) cc2elneee2) cleceeel
C1CC=1N(CC (=0) 0CC) C (=0) c2¢ (C) nn (—c3cceced) c2N=1

0(CCC) CC1=Nc2n (-c3cceee3d) ne (C) c2C (=0)N1

0=C (0c1cc20C (=0) C(Cc3cccee3)=C(C) c2ccl)C1CCl

0=C (0CC) CN1C (COCC) =Nc2n (-c3cceeed) ne (C) c2C1=0

Fclcee (C(=0) C2CCN (Ce3ccece3) CC2) cel

S(=0) (=0) (N1CCOCC1)clcece (Ne2nne3n (C)ne (C) c3n2) ccl

S(=0) (=0) (N1CCNCC1) clece (Ne2nne3n (C)ne (C) c3n2) cel
S(CC(=0)0) clsc (NC(=0)C)ncl

S(CC(=0)N(CC)C) clsc (NC(=0)C)ncl

S(Ccloc (C(C) (C)C)enl) clsc (N(C(=0)C(C)C)C)ncl

S(CC(=0)0C(C) (C)C)clsc(NC(=0)C)nnl

S(Ccloc(C(C) (C)C)enl)clsc (NC(=0)C)cnl

0=Clc2c (0) cc (0) ¢ ([C@H]3[CeH] (0) CN(C) CC3) ¢20C (Ne2¢ceee2) =Cl1
0=C(c1c(0CCC(C)C) c2c (n(CC)nc2)ncl)cleeceel

0=C(clc (N(CCCC)C)c2c ([nHInc2)ncl)cleccecl

0=C (Nc1¢2C (=0) c3c (-c4cce (Ocheceeeh) ce4) [nHIne3-c2cecl) C
0=C(N(Cclcceeel) C)Nele2C (=0) c3c (—cdcece (0C) cc4) nnH]lc3-c2cccl
Clcle (C(=0)C2=Cn3c (nc (Nc4cence4) ¢3) C=C2) c (C1) cccl

Clcle (C(=0)C2=Cn3c (nc (Nc4cce (Ochececebh) ccd) ¢3) C=C2) ¢ (C1) ccel
Brclee2[nH]e3c4[nH]che (c4c4C (=0)NC (=0) c4c3c2ccl) cec (0C) ¢b
Fcle2e3c ([nH]c2ccel) cle (c2n(C) cecc2ecl) c1C(=0)NC (=0) c31
Brecle2ce3c ([nH]c2cecl) cle (c2n(C) cec2ecl) ¢1C(=0)NC (=0) ¢31
0=CINC (=0) c2¢3c4n (C) cccdeec3c3[nH] c4e (c (CO) cecd) c3c12

0(C) clee2e3e ([nH]c2cel)cle(e2n(C) cec2ecl) c1C(=0)NC (=0) c31
0(C)clc2[nHlc3c(c2ccel) c1C(=0)NC(=0)clcle2n(C) ccc2eece3l

FC(F) (F)clec2[nH]c3c4ce (C) cebe (n(C) ceh) c4edC (=0) NC (=0) c4c3c2ecl
0=CINC (=0) c2c3c (n4che3ccechHCC4) e3[nH] cde (e3cl12) cecc4

0=CINC (=0) c2c3c (n4c5c3ceechCCCCC4) c3[nH]cde (c3c12) ceecd
Felee2[nH]e3c4n5c6e (c4c4C (=0) NC (=0) c4c3c2cecl) ceeebCCChH
Clclce2[nH]c3c4n5c6e (c4c4C (=0)NC (=0) c4c3c2cecl) cecee6CCCH

FC(F) (F) clcc2[nH] c3c4nbebe (c4c4C (=0)NC (=0) c4e3c2ecel) ceee6CCCH
Breclee2 [nH]c3c4n5c6e (c4c4C (=0)NC (=0) c4c3c2ccl) ceee6C[C@@H] (CO) Ch
0=CINC (=0) c2c3c (c4nbcbe (cdce12) ceee6C[C@H] (CO)C5) cecledececd
FC(F) (F)clcc2[nf]c3c4[nH]cbe (c4c4C (=0)NC (=0) c4c3c2ccl) ceeeh
0=C (Nc1¢2C (=0) c3c (-c4occcd) n[nH]c3-c2cccl) C

Clcle (-n2nc (CC) ¢3S (=0) (=0)NC (C)=Nc23) ¢ (C1) cc (C1) cl

0=C (N(CC) CC)Nc1c2C (=0) c3c (~c4cee (0C) cc4) n[nH] c3—c2cccl

0=C (Nc1¢2C (=0) ¢3¢ (CC) [nH]nc3-c2ccel) CN1CCC (C(=0) N) CC1
Clclec(Cl)ce(=c2¢ (C(=0)N) sc (=c¢3nc (N)nce3)n2) cl

Fcle (—c2¢ (C(=0)N) sc (-c3nc (N) nce3) n2) ceeel

0=C (0CC) c1c (0C) nc (~c2cence2) sl

0=C(0CC) clc (N) nc (—c2cence?) sl

0=C (0CC) c1c (NC) nc (—c2cence2) sl

0=C(0CC) clc (NCc2ccece2) ne (—c2cence?) s
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0=C (0CC) clc (Nc2ccece2) ne (—c2cenece2) sl

0=C(0CC) c1c (N(C)C) nc (-c2ccenee?) sl

0=C (0CC) c1sc (~c2cence2) nel
0=C(0CC) clc (C)nc (—c2cence?) sl

0=C (0CC) clc (~c2ccece2) ne (—c2cenece?) sl

0=C(0CC) clc (-c2c (0) ccee2) ne (—c2cenee?) sl

Clcle (=c2c (C(=0)0CC) sc (—c3cenee3) n2) cecel

Clcle (=c2c (C(=0)0CC) sc (—c3cence3)n2) cee (F) el
Clcle(Cl)cececl—cle (C(=0)0CC) sc (—c2cence2) nl
Clcle (=c2¢ (C(=0)0CC) sc (-c3cence3d)n2) cec (Cl) el
Clcle (=c2c (C(=0)0CC) sc (—c3cence3)n2) cec (0C) ¢l
0=C(0CC) clc (-=c2cncec2) ne (—c2cenee?) sl

0=C (0CC) clc (~c2cc3c (cc2) ceeed) ne (—c2cence?) sl
0=C(0) clc (0)nc (-c2ccnec2) sl

0=C(0) clc (—c2cccee2) ne (—c2cence?) sl

0=C(N) clc (0)nc (=c2ccnece2) sl

0=C(NC) c1c (0)nc (—c2ccnce2) sl
0=C(N(C)C) clc(0)nc (-c2ccnece2) sl

0=C(NN) clc (-c2cccee2) ne (—c2cence?2) sl

0=C(NO) clc (-c2cccee2) ne (—c2cence?) sl

N#Cclc (-c2cccec2) ne (—c2ccnec?) sl
cl(c(=c2cccee2) ne (—c2cence2) s1) —cln[nH]nnl
cl(c(=c2cccee2) ne (—c2cence2) s1) —cloennl
0=C(0CC) c1c (0) nc (—c2cncee?) sl
0=C(0CC) clc (0)nc (—c2nceee?) sl

0=C(0CC) clc (0) nc (—c2cc (CC)nce?2) sl

0=C(0CC) clc (-c2cceee2)ne (—c2ce (N) nee2) sl
0=C(0CC) clc (0) nc (—c2nc (N) nce2) sl

0=C(0CC) clc (-c2ccece2) ne (—c2nenc (N) c2) sl
0=C(0CC) c1c (0) nc (—c2ncenc?) sl
0=C(0CC) clc (0)nc (—c2cccee?) sl

0=C(0CC) clc (0) nc (—c2ccc (0C) cc2) sl
0=C(0CC) clc (0)nc (-c2csce2) sl

0=C (0CC) c1c (0)nc (C(C) (C)C) sl
0=C(0CC) clc (0)nc (—c2cence?) sl

0=C (0CC) CN1C (COC) =Nc2n (=c3ccece3) ne (C) c2C1=0
0(CC) CC=1IN(Cc2cccee2) C(=0) c2c (C)nn (—c3ccece3) c2N=1
0(C) clee(0C) cc (0c2ce (—e3ne (Ne4ee50C0c5ec4) [nH]n3) ceen?2) el
Clcle (=c2ce3c(NC(C) (C)C)nc (C(F) (F)F)nc3ce2) cee(Cl) el
0=C (Nclce (Ne2ne (—c3cnecee3) cen2) ¢ (C) cel) clece (CN2CCN(C) CC2) cel
OCCCNc1ne (NC23CC4CC(C2) CC(C3)C4) c2nen(C(C)C) c2nl
0(CC=1IN(C)C(=0) c2¢c (C)nn(-c3ccceed) c2N=1)C
0=C(/C=C/clcc(0)c(0)ccl)clecc (N)ceel

0=C[CeHt] (0) [Ceet] (0) [CeH] (0[CeeH]1[CeH] (0) [CeeH] (0) [CeH] (0[CeeH]2[CeH] (0) [Ceet] (0) [CeH] (
N[CeeH]3[CeH] (0) [caeH] (0) [CeH] (0)C (CO)=C3) [CeeH] (C)02) [CaeH] (C0)01) [CeH] (0)CO

S=Clc2c (Ne3cleeee3d) ce (N) ce2

0=C(Nclce (Ne2ne (—c3cneee3) cen2) ¢ (C) cel) clece (CN2CCN(C) CC2) cel
0=C(C) clc (—c2cccce2) c2c (oc3c2ce (0) ce3)nel
Oclce2e3c (¢ (C) enc3oc2cecl) —cleccecl

0(CC) clc (—c2ccecc2) c2e (oc3c2ec (0) ce3d) nel

Clclc (=c2cccee?) c2c (oc3c2ee (0) ce3)nel

0(c[ceH] (0)CN(C)C) clcee (Ne2nene (Ne3cceee3) c2) cel

Fcle (Ne2nene (Ne3eece (OC[LC@H] (0) CN(C) C) ce3) c2) ceecl

Clcle (N(Cc2cceec2) c2nene (Ne3cce (0C[C@H] (0)CN(C) C) ce3) c2) cc (Cl) cel
Clclcee (Ne2nene (Nedeee (OC[C@H] (0) CN(C)C) ce3) c2) cel

0(c[ceH] (0)CN(C)C) clecee (Ne2nene (Ne3ccee (0C) ce3) ¢2) cel

0(c[ceH] (0)CN(C)C) clece (Ne2nene (Ne3cee (C) ce3) c2) cel
0=C1/C(=C/c2[nH]cc3C(=0) 0CCc23) /c2c (N1) cc (—clceecel) ce2
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